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Length of index finger, I mm Frequency Frequency density
4o 0<1<40 0 0>4o =0O
Te) 40 < 1<50 3 3+ 03
g 50 € 1< 55 5 J+5 =1
5 55 < 1<60 15 is=y =3
5 60 < 1< 65 25 ey =5
5 65 <1<70 10 b=y =1
20 70 < 1<90 2 2% v O-1

A survey was carried out to find the distribution of the lengths of index fingers.
The data was recorded in a grouped frequency table.

Complete the frequency density column in the table above and hence draw the histogram for the
data using the axes below. [3]
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@There are 100 pupils in Year 9. The time taken by each pupil to answer a mental mathematics
question was recorded. The following grouped frequency distribution was obtained.

Time, )
f seconds 0<r< 10 | 10<r<20(20<r <30 [ 30<sr <40 | 40<r <60
Numbferof 8 17 25 28 -
pupils
4

fa) Find an estimate for the median of this disllib;lion. .
(06 popd 5+ o~ © 90 '9‘"‘19“!
"8 <o, 1*2r¢20 1" 50 230
So 2atirake 565 pupd tuke 36 secods. i

(b) Draw a histogram to illustrate the distribution on the graph paper below.
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Frequency density

As part of an investigation, the time taken to undo three knots in a piece of string was measured for
each pupil in a group of twelve year olds.
The histogram below illustrates the results obtained.

Times for the 12 year olds

Time in seconds

(a) Use the histogram to calculate the number of twelve year olds in this group.

(YO

'30 + HO +J0 +40 +LO =
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(b) The time taken to undo three knots in a piece of string was measured for each pupil in a

group of 200 sixteen year olds.
The following grouped frequency distribution was obtained.

Time,

+ setands 0<t<10 | 10<1<20 | 20<r<30 | 30<r<40 | 40<r <60
Number of 45 55 60 ,30 10
people

(i)  Find an estimate for the median of this distribution. .
200 ﬂupn% 50 e U (oot ﬂU'PVt
Ay puph 210 4 (00 ok £20
S-b'.p-;"l:r-tak:. MD-‘LLM\/'-’?J bubes 20 Seconds (

(i) Draw a histogram to illustrate the distribution on the graph paper below.
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(c) State, with a reason, which of the two groups is the better, on average, at undoing knots.

mmwao%wﬁm°fdé hbk‘—
£40 Sney W ks 210/ 150 = HJL d H-u.
1L wr ol - ’ .
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A survey was carried out to measure the lengths of the gardens of a number of houses.
The histogram shows the results of the survey.

L

£

bt

Frequency density

Ll

. 30 40 50
Length of garden (metves)

Use the histogram to calculate the number of gardens measured.

(a)

(lox1) + (1ox4) +([dx3 r) +(20%]-17 )

2+ 40 + 9T + 2T

= {2,0 Gjovbtﬂ-:w~
v

31
(b) Find the Iength exceeded by 50% of the gardens measured.
S0% oF G!o/ilnm = €O qo,J.nW
1% £O qn,f‘,h.; JMlarurt 1003 Hos Z()/u.e/[‘m
. d 5—O% 9;)0}21.0—\,5 MZO}\AD}M
i1}
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A survey was carried out to measure the lengths of the driveways to a number of houses. The
histogram shows the resuits of the survey.
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(a)  Use the histogram to calculate the number of driveways measured.
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(2x35) 4 (6<2T)+(l10%32) * (2% 2§
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(b}

Find the length exceeded by 75% of the driveways measured. Give your answer to
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6A The histogram below represents the results of gathering and measuring the lengths of twigs.

Frequency
density
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(a) Use the histogram to complete the grouped frequency table below.
Length, /cm 0<iI<20 20 £1<30 30 € 1<40 40 € 1<50 50 < I<70
Number 2024 5 lowy = (6% (OR-6 = 20% L >
of twigs 5o 50 = 4o €6 4o
2
(b) Find the fraction of twigs that are 40 cm or longer, expressing your fraction in its lowest

terms.

N!} l"wup zuo 3 loo - |
kL b A
(1]
(c) Calculate an estimate of the number of twigs with length less than 22 cm.
(Zoxt)+(2¢s5)
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